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(xi) W~ W OH g em 37 A A

General Instructions:

(1) The question paper compriscs - thre
sections.

(i)  All questions are compulsory

(i)  There is no choice in any of the
(iv)  All questions of Section-A, Section-B and Sechon A are 1o Yy attempted separately.

(V) Question numbers 1 to 3 in Section-A are oOnC mark queshons These are to be
answered in one word or n env senfence

(vi)  Question numbers 4 to 6 in Section-A ar
answered in about 30 words eoch

(vii) Question numbers 7 to 18 in Sfrdmn-
answered in about 50 words each

(viti) Question numbers 19 to 24 in T*n\-mm-

answered in about 70 words eacn |

Question numbers 25 to 33 Section-B are

pmctical skills. Each questior &

w are o attempt all the

¢ two marks questions.  These are to be
A are three marks quesnons. These are to be
A are five marks questions. These are to be

qux

multiple choxe queshons based on

. » one mark gueston. You are to select one most

(ix)
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appropriate response out of the four provided to you.
Question numbers 34 to 36 in section B are two marks questions based on practical

skulls. These are to be answered in about 30 words each. ‘
Question number 37 from section C is based on Open Text themes and is of 10 marks. '

\)

(0

V- / SECTION-A

1 fla S1wa % PRm ¥ SRR F1A aw e 38 F ST § wdfw € ¥ 6 g FA F WM 1
Wmﬂﬁ%ﬁimm*mmmmm

As per the law of def_ini‘_i;e proportions carbon and oxygen combine in a ratio of 3 : 8, Compute
the mass of oxygen ga$'thdt would be required to react completely with6 g carbon.

2 AR g3 STV S 913 A7 SRgA P F o am ® s aW A TR # L
RS uEi
A pore bearing organism like creatu

re ‘A’ befapgs to a phylum ‘B’ of kingdom Animaha.
Identity ‘A" and ‘B’

3 faa O F 9T 3T Wt{«ﬁa?a!i-"f 1
In which regions is soil erosion very ditficult to eevert * 0
4 - fafre afvaafe & @ sifym ¢ 2
Explain, what is Organ specific manifestation 7
2

- UF A 2kg XEAH H TH U 15 m £ v & foag 8 A9 fom d w9 e At w

wdam ¢ A et vfaw Fo 9@ Ho
(g # WH =98 m/s?)
2 kg from the top of a building of height

A man drops a stone of mass
15 m when it reaches the ground, find its kinetic energy.

(taken g = 98 m/s%)

ge 20f 14
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When an object is immersed in the fluid name the two forces acting on it ?
7 & " -

(a) Wmﬁmmwtmﬁ?rémflwﬁmmWﬁﬁmﬂt? 3
(b) T W F TF TR F1 I FA o TR g R @ F A @

(a) The mass number of an element is 18. It contains 7 electrons. What is the number of
protons and neutrons in it ?

(b)  State the problem of atomic structure which was solved after the discovery of neutron.

8 w@é*mwmﬁqm R Frer v W 3 3 o WS o A 3
(i) w %w sifvgar s e ¥
(b) O WEF W m N " qeare Wegn 15 8, A
() v H gzt m};:
4y  amgam wm A gt et

(a) From Rutherford’s a-particle scattefing Frpegingat give the experimental evidence for

deriving the conclusion that
(i) most of the space inside the atom is empty >
(ii) the nucleus of an atom 15 positively charged

(b) An element has mass number 3] and atomic number 15 finth

(i) the number of neutrons in the element, and

(ii) the number of electrons in the outermost shell.

9 mwmﬂa‘mﬁ‘gﬁﬁmﬁﬁme

saoe 3 ﬂf 14
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Write three points of difference between an atom and a molecule.

= mmﬁmﬁﬁmd o it fean 39% 9vaq 25 (1894) am farew (1959)
' 3 3¢ 9= S § aitaga fawan
3 wd ¥ fF W AEE @ g (Fu 0 FT s 3 fag # Aeer 8 ados
G F faenedt anafaa @2 @9 ol g 3 AR

Carolus Liniaus gave the two kingdom classification. Later it was changed by Ernst Haikel

(1894) and in 1959, Whittaker gave the f ive-kingdom classification.
Do you think that studying about the work done by earlier scientists or their obsolete theories

is useful for students of this generation? Give 3 reasons.

11 oy ¥ fawed fe 9@ & 3nm WosEE T W & AW fafaw

What are Phanefé;g;ﬁi?__f?ﬁame its two groups along with the criteria of division.

12 o wqm A s T R0 e W 20,000 H b1 13 24l Al ¥ w Al @ @ O
dorded et @t (g A vt 3 e 344 mys B0

A man has an audible rangrvftj:un 20 Hz 1o 20 KHz What are the wavelengths of
sound in air corresponding to these twihfrequencies (Speed of sound in air 1s 344

m/s.)

13 amg A ag o gro 3w Ay A e o va g
siafeey a0 U 7 A A g w QL 1e® ‘w-r,, S il ad o
How does the Sound pl’()du('l‘d M' a mu J! '.!‘.'\‘!le;ﬁ&h YOUT Cars ? -*\\l‘l'("\dut\ [\0\'\1
radio telescopes to talk to each other cn v ’ ,

1.0

a1 Why '’

24 (1) nfaeite a8 A anfae ot @ wwn Al
(2 F m TIHE B Q] M p dn @ e b snfe g % fou =a®s ==

Ffaat

(a) Name the type of energy
(b) Derive and expression for this en

mass m.

poswssed by a moving object.

ergy for an obyect moving with velocity © and having,

15 mmmvﬁqﬁaﬁﬁm
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Define frequency and ampl

) de
nm‘ dlmms to represen m
(a) Sont sound v

(d)  Loud sound

16 Nmaluwﬂﬁmsgmmffs&ogtlmmmmmm|muﬁ3
S M fe @ ¥ WY IR W ww S Hm v gw

A solid wetghs 73 ¢ in air and 535.6 g in water. Find the relative density of the solid. Also state
1 the obyect wall float or sink when immersed in water.

17 we ®

How are clouds

yeatiwmavi s e 3

nd what brings us rain ?

& fed @ e = A7 # g ¥ g9 W99 & (997 F fequ savms 3

18
L 4]
Mention any three important rokes of h% mtsal for the life of orgamsms on the earth’s

» hnatae e fafarg 5

19 (@) 4 fym WoA & ETAA N 0 w A aw
Ca?* K" Fe't 07 50, j/

(b) TRIER W WeR T 18y } Tg €0 w0 T S Cenn 1o gnm 2

“, \ i } “ md* o’ .n the {W‘xu"d\ that can t! hﬁ‘f by tht (Ombm‘llon Of

following ©ons -
[ TRAE S > Shii e R-Toly

(b) Moiar mass of nitrogen is 14u. What will be the mass of one atom of nitrogen in grams ?

g o 5

20 mdwﬁuﬂw&t

age 50f 14
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(d) lh"’i‘ = 2 |

T Twm= g vy 5T 1
® B S |

: :

L —.-— - e T o

Fill the h%ﬂ\v\m e

Disease .7%/7;' T T orses Niade o

| T rarsussaon '

Meningitis —*'\‘Tn<)\ ' 2 "toal

| AL RatIon !
. e = L 3 *® S
Hepatitis 2 \ i

O - any !
@ [ Bacwera 19/ e T

| - ) R
w® | Virus By, | ) _1
|
- — — . . -+ - -
Dengue fever | 1 A Node oy M 'g
: 1

21 (a) deEmaR@I IR ER T OS P ewsd wowe §dy w
() WD Fma ¥ T FL P ovne vre F P oo
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gl))) Whatkindoffoodbadrued when we fall sack and why ?
Mention any three has - ondshions required for good health.

AR SR R s g e S U O
(SONAR) ®1 Y™ ®9 ¥ fafgy v== 3 © === Sy,

Define frequency and wavelength =1h ref )
' th w1tk reference to s '
Write full form of SONAR. Give two zonications of ulzrzos;:r?a.&plmn SRS S

3 (a) 1 KWh &t sftars fafag 5
(b) fFet ag #t vfR 3791 37 ==+ 3 == @ Sw yEw gwhE
(c) AR 1600 W F1 fagr 397 v== oo TR o ow wd @ A ue ® w4 3w

(b)Howmﬂ‘emuw&?:hf‘:‘- n obwect 1s Lifted ?
(c) If an electric ron of lf'fﬁr‘ geed for 4 nutes evervday, find the electric energv
consumed in the mbnth of M- -
! d;i‘ﬁmi:mmwmitr;v— o w g gl fefgd srAR fa F R R S
What is meant by depletion of coorw ’ g orw important feature of ozone in
atmosphere. ldentify the factor respors O 4 \ sorwe hok

WM oE ) SECTHONGE

tfadr snim t ae d

;| .l o
I I N
L —— Y ommswr - nwa::v &
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@ A
® B
€ C
(d)  (A) = (B) DS

For reflection of soun
d by a metal plate, the graph
angle of incidence and angle of reflection. BFR P Hich Ahones the best vatiesion et the

Is P I ;
5 _E E /
i dl 7 4
] 2¥
0 = 2 3 §§ i '/_/
An;lcd — 0 Angleof __ 0% Angle of
A Incidence (i) h‘(ﬁdﬂlfh).—_.
(8) ©
by B

‘_?::__.(d) both {A) and (B)

26

(@)
(b)

©)
d) Fee g Ea ¥ A & g s Aen | SRt IR e smﬁfwh

Choose the correct statement :

(a) For a given value of force, the pressure vanes inversely with density

(b) Foragiven value of force, the pressure varies inversely with area

(c)  Foragiven value of force, the pressure varies directly with density

(d)  Fora given value of force, the pressure varies directly with area

Generated by CamScanner



27 ﬁzﬂmmmﬁ%mﬁmm*msﬁ!ﬂwnmwﬁﬂmm? 1
i 5 .

(@ O s W ¥ @ e e b
(b) iz A A FEw R w4

(© ﬁ!m@ﬁiﬂiﬁfﬂiﬁm%‘#%mwmvﬁmﬁmmmtn

(d A WAm § B WA € I T

Wed\ooseaslmk}'o(hzgeﬂengﬂltc;\wt\mnmtmspeedﬂ;mlseheamae:

(a) formed on a short shnks

(b) pulse ¥

(c) W one end t© ancther can be accurately determuned
(d) ltsmﬂmp«n\/(

28 e N # givm srean b 1

. )\
() Leaf (s Shoot ; (

(c)  Stem (d)  Reproductve part

29 god WWED S D e wam g w0 9T e e b T seeds wormwa gy
3 yg B @ TR ¥ 7RIS W

(a) (x +¥ig L] (a+¥i =

Page 9 of 14
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() (+ygRsfm @) (x-yg

During fusion reaction two lighter atoms combine together to form a heavy atom. If the
atomic mass of the reactant is xg and yg, then the mass of productis

(a) (x+y)8 (b) less than (x + ¥)g

(c) greater than (x +y)g (d)  (x—-v)g

30 wmaﬁmﬁﬁmmw%ﬁmmmm%mﬁqﬁﬁmwaﬁa 1
wm?

(a)  aftam Feroes i wifeam FnEe
(b) 3w wede o dfsan wehe
() mmmmm
(d) mmmmmﬁv

Which of the following palr 1S s’uuablv to verify the law of conservation of mass in a chemical

reaction ? y
(a)  Barium Chloride and qaé;;m ffond
(b)  Barium Sulphate and Sodium Sulphated
(c)  Copper Sulphate and Sodium Carts ....w .

(d)  Sodium Sulphate and Sodium ( .uhun.n!.-

3 fre a3 &) saeifEa 1 34 o e sea

(a) T W 1 FEd T

page 10 of 14
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(b)mvﬂﬁhianfaazﬁw

Observe the diagram below and identify it as :

(a) trimerous ﬂgwr—;pof monocotyledonous plant

(b) trimerous ﬂd‘;;tf{ _ni éigatylcdon:me plant

(c) pentamerous fluwet.i;f uwm oty ledonous plant
(d) pentamerous flower of duonl.gdu. us plant

32 e ﬂ THR F1 EARE (AR (T S ,ﬂ‘.«-l w1 ue faeey gl

I "

AR

(a) 1 3 11 Rt w2 }

(b) 13K 11 GEwaterwst 9 @ |
(o) | Ewarat wgay ¥ awn 11 fgatawt 93 @
(d) 1 Rt s & A (1 g 9T 2

= . 1: ’ - ‘h(* th‘- CU “

option ;
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(a) I'and 11 are dicotyledonous root
(b) Iand I are menocotyledonous root
(¢) Lis a monocotyledonous root system and 11 is a dicot yledonous root

(d) Lis a dicotvledonous root and 11 is a monocotyledonous root

£

33 fﬂﬁww%%%;ﬁmmm%wmtmifmr-ifﬁ;rmf-twﬁfﬁmt; 1
.
(b)

(c)

luded that 1t is adapted for

(a) piercing the bones of arumals §
{b) piercing the skin of animals

(c) piercing the skull of animals.

(d) piercing the shell of a seed

wmﬁmmwmmﬁaﬁiﬁmmmﬁmm§mkinmm 2
&1 AT T I T2 3 B AT 60 g & A AW F 92 ¥ A @
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60 ! o
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100 L__. o
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-

L

~-X

Amdmm&wnh’:bwamrhmfmmmu* 5 eyllodier
whatwﬂhetheduuydtﬁz:_ra f e sl ” 8

R-E-R-R -

35 fr Terd % amafeE v @ at em e boow e S e S
and give s SI

What do you understood ov mwlmrew Jemem X 2 AR

unit ?

36 WMmmmfiﬁ:%:rt;ﬁ:gﬁt?

page 13 of 14
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37

How do cockroaches breathe ? On which side of the body are these structures present ?

WM- |/ /Section - C
(* Please ensure that open text of the given theme is supplied with this question paper)

Theme-II (Environment and Development - Lessons from the Hills) (5+5):

(a)“mﬁmmmaﬁtwm(qfqmrmm)mmﬁp sl

w2 wptre wftazn] vl s J ¥

(a) "Although cloud burst and Land ¢ the main causes of Utmakhand's
L this unfortunate turns of evenss.

disaster but nature alone can't b b
Man has ph)'t'd an ﬁ{uﬂl il Mt e n this disaster ™ Justiv reig
statement by taking into consideration o e Jeasons behind this disaster.

(b) Man has felt helpless in front o i disasters caused ‘\ Ph"“'“""“‘ many & tmmes.

But natural phenomenon translorm nto natural ..ai..m xause of human action
and inaction, comment.

~o(ododo-
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